Was ist die richtige Losung? (plus Zahlen bis 10)

Plusrechnen

4+ 850+8= 5 461 +0= & 301+0=
7 645 +9= & 581 +10= 9. 892+0=
0.985+1= 1. 481+2= 12.389+1=
3.820+6= 14.412+5= 5. 702+0=
16922 +10= 17.385+2= 18969 +8=
19125+ 7F= 0 293+2= 21192 +10=
2123 +1= 2.309+2= 2. 23F+0=
5284 +8= w 12 +4= 27 45T +6=
% 91 +2= 9 169 +2= 30946 +4 =
310309 +1= 2. 6FF+0= 3484 +9=
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Was ist die richtige Losung? (plus Zahlen bis 10) | ANTWORTEN
Ot
XK Plusrechnen

. 384+5=389 , 10+8= 18  271+2= 273
. 850+8= 858 5 461+0= 461 , 301+0= 301
7 645 +9 =654  581+10=591 , 892+0= 892
10.985+ 1= 986 |, 481+2=483 ,389+1= 390
13820+ 6= 826 ., 412+5= 417 s 702+0= 702
16522 +10=9532 |, 385+2= 387 5969 +8= 977
19125+ 7= 132, 293 +2= 295 ;192 +10 =202
2123 +1= 124 5 309+2= 311 ,, 237+0= 237
25284 + 8= 292 ;. 172+ 4= 176 ,; 457 + 6= 463
8. 9F1+2= 973 5 769 +2=T71 3,946 + 4 = 950
51309+ 1= 310 5 677 +0= 677 ;484 +9 =493
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